Test Booklet No. Test Booklet Code
HE/HALEBI1/6/21

MEDIUM : HINDI + ENGLISH

EC

INSTRUCTIONS
1. 39 J39-93 Yfedehl H AR 9T 8 | 9T “h” Tford | 50 T34 8, Fo9H & T & forw 3 316 Faifia
& | 9W @7 A {1, 9T 9T 9T 3T 9 ‘e IR (3efereid) ® 25 T9A 8, T W T &
foru 2 31k fagiid & | o e, T99-9 T $ 300 371 o foTu, 125 T3 8 | It T9A1 & WK
Y |

This Question Paper Booklet contains four Sections. Section “A” Mathematics contains
50 questions of 3 marks each. Section “B” General Knowledge, Section “C” Language and
Section “D” Intelligence contain 25 questions of 2 marks per question. In all, the paper consists
of 125 questions for a total of 300 marks. Answer all questions.

2. ‘ﬁ”ﬁ%ﬁwmm%aﬁtm%fﬁgéwﬁﬁmwwﬁmm% (Ieigaml o foru
effgd 13 9wisT | 9 el ot tes 9w ol 'gd-ﬂ YTk AT : STAMAT, STAT, IS, T,
geal, g, HAdTaH, HUSl, AT, ST, qffe, de 3R 335 1)

Section “C” is language specific and is to be attempted in the chosen language only. (Candidates
were required to choose any of the following 13 languages : Assamese, Bengali, English,
Gujarati, Hindi, Kannada, Malayalam, Marathi, Odiya, Punjabi, Tamil, Telugu and Urdu.)

3. Tdieqr <hi 3rEfey 2 ©1¢ 3R 30 e (150 firme) <t 8 |

The test 1s of 2 hours and 30 minutes (150 minutes) duration.

4. 5= < 3 &= = suwsh = g1 8, 3 forw yva-ux gfeaent feanfyes (It fa=dt efit oot o)
gt |

The Question Paper Booklet for those who have opted for Hindi or English would be bilingual
(1.e. iIn Hindi and English).

5. S @M A T vmwiedt § , fohel Wi Wb I A1 7, Ioh (0T J94-9F GI&dehl, Ja¥ 9 H 3oh
g ffde o g+t g3 wen TR 1Sl 4 eRkid i1 73 Brft | ghen |, frel wed o stgare/fAuior |
foret off 3TEUEdaT & HWA H, 39k TS HEHLU (W HTT o UHT hl BIghl) hl AfdH HFT
SITET |

The Question Paper Booklet for those who have opted for any of the specified languages would
be in the language opted and indicated on the Admit Card and in English. In case of any
ambiguity in translation/construction of a question in the exam, its English version (except for

the Language section questions) shall be treated as final.
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6. TYH-UF GIEIehl 36 TS3l i & | HUAT A9 AR Ig GHTaa hiferg fob I94-99 gieaen Il 8 IR
3aH 9l 753 7 |
The Question Paper Booklet is of 36 pages. Please check and ensure that the Question Paper

Booklet i1s complete and contains all the pages.

7. G Y9I F I had 3T.UH.3TRX, IA-Uk H & ¢ |

Answer all questions in the OMR Answer Sheet only.

8. 3.TH.AN. IT-TAh, TI-UF JI&iehl b G & & | & ATIehl TH-95 Jiedehl @ia ol Hoar faam

[ ™\

SITdT 8, 9 31,00, 3R, IT-UA%h hldl o N {9atul &l &IHYesh, hdd HIcl/Hiel did dige U4 &
& W |
The OMR Answer Sheet is inside this Question Paper Booklet. When you are directed to open

the Question Paper Booklet, take out the OMR Answer Sheet and fill the particulars carefully
with blue/black ball point pen only.

9. YI$ YT o foTu 379+ I o ¥ U shadl Tsh M bl &l W (T8 R) | I AW IH 999 & fow
Teh © SITET M bl MU Hid 8, df 3AT9eh SIdTe bl TeAd HHT SITET |

Darken only one circle as your answer for each question. If you darken more than one circle for

the same question, your answer will be treated as wrong.

10. TTd 3T & fou fifea arfeh 981 8 |

There is no negative marking for a wrong answer.

11. 371.TH.3TR. ST-Uh W SHEIH HIH 7 §9C 1 Bleg = hL 1 3¢ &g ($ha) v =1 7=d
T B | I AT UHT HLd & al ATeh 371, TH. AN, ITR-TAP ol oA gl TehdT ST |

Do not make unnecessary marks on the OMR Answer Sheet or fold or attempt to deface it. If you
do so, your OMR Answer Sheet will not be evaluated.

12. 39 I8 W foeur 3R IW fofed & U shae Hio/rel afd 9ise U9 1 ITFM &L | 4f=4a

™ o
SEdHI + hi |

Use Blue/Black Ball Point Pen only for writing particulars on this page and for writing answers.

Do not use pencil.
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13. T 9%, T9H-97 YiEdept H, % 39 3299 O 3uctey s s W8 W & foham 1 =nfee = foh

31.UH. 3R, I T |

Rough work is to be done on the space provided for this purpose in the Question Paper Booklet
only and not on the OMR Answer Sheet.

(& ™ 5

e 9 B W, HARW@ Sied ¥ Ugd W& (FAENeil) Hi ALTH.AN. IALUFH HIY
q |

On completion of the test, hand over the OMR Answer Sheet to the Invigilator before leaving the
Room/Hall.

15. 3ATYeh! 39 TYH-UF YREdehT I 794 Y o M hl AT 2 |

You are allowed to take away this Question Paper Booklet with you.

16. 39 IRl o foTU fGAT T Shig A 8 | TYeh! GHTAd AT 8 Tob 1.TH. AN, IT-TAh W Hfga
fohdT TRIT IS, 39 T9H-9 JIEdehl o &l TN & | fo@id 81 9 99-95 Jiedenl 3T 31.TH. 3N,
3T-IAh GFI bl SGA oh 1T HIHST shl FoHT deebldd Mg (SAdNIeiel) ol g |

The CODE for this Booklet is A. Make sure that the CODE printed on the OMR Answer Sheet is

the same as that on this Question Paper Booklet. In case of discrepancy, report the matter

14.

immediately to the Invigilator for replacement of both the Question Paper Booklet and the OMR
Answer Sheet.

17. 3191 ShHTH (T 7.) TH-93 IReaehl/T1.TH. 3R, IT-IA% H U MU e LA i DGR Hhal AR
& fod |
Do not write your Roll No. anywhere else except in the specified space in the Question Paper
Booklet/OMR Answer Sheet.

18. 3. TH.3TR, ITR-TAH T fohdl W1 TG o IR L o T A% A 9a1 (white fluid) T ITF
Tal L |

Do not use white fluid for carrying out any correction on the OMR Answer Sheet.
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9T o» / SECTION A

Ut / MATHEMATICS
fohe FfshaT o 3Tcid qUTlsh H9d (93) BId & ?
(1) HIMHI (2) HM
(3) UM (4) T G T
Whole numbers are closed under which operation ?
(1) Subtraction (2) Division
(3) Multiplication (4) All of these
1 fuferaa &1 1gadt (37Tell) T 8
(1) 2 ot (2) 1000001 (3) 100001 (4) 10001
The successor of 1 million 1s
(1) 2 million (2) 1000001 (3) 100001 (4) 10001

f< 0,U,S,V,R, X, W, T, P, Q @¥T Y €& W1 W GHH g W & | TdF5 OP g
fTefua fvw 2
U V R X W T Q Y
-ttt
0 S 1 P 2
1 7 4 6

1) = 2 3) — 4) —
()5 ()5 ()5 ()5

The points O, U, S, V, R, X, W, T, P, Q and Y on the number line are equidistant. The
fraction represented by length OP 1s

| i >

U vV R X W T Q Y
e A B S E B
O S 1 P 2
1 7 4 6
(1) = 2) — (3) = (4) —
D ( 0 O D
gl SHHTTA qUTieh, fSieh 7eg o fi= ? feoa 8, @
(1) 031 (2) 53T (3) 536 (4) 637
The two consecutive integers, between which the fraction g- lies, are
(1) Oand1 (2) b5and?7 (3) S5and®6 (4) 6and 7
Fffad § ¥ shi9-91 {59 ge9 Bier 8 2
4 0 D D
(1) — (2) — (3) — (4) —
O 3 6 2
Which of the following is the smallest fraction ?
4 3 D D
(1) = 2) — 3) — (4) —
O : 3 6 2
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10.

gl §EA1AT 1 HCF 91 LCM 3hASI: 6 3T 864 2 | Ff¢ Teh H&AT 96 7, dl g&il H&A1 A

hIfeTT

(1) 84 (2) 45 (3) 54 (4) 24

The HCF and LCM of two numbers are 6 and 864 respectively. If one number 1s 96,

find the other number.

(1) 84 (2) 45 (3) 54 (4) 24

&l A3 k1 HCF 12 8 9971 39T 3T 12 2 | I8 g =felaa 3@ 9 sia-E 8 gend]
2 ?

(1) 84,96 (2) 66,78 (3) 70, 82 (4) 62,78

The HCF of two numbers 1s 12 and their difference is 12. Which of the following can

be the numbers ?

(1) 84, 96 (2) 66,78 (3) 170, 82 (4) 62,78
UEt TeE DI T&IT 1 HINT ST 9, 12TF 15 T & 9T 3 |
(1) 60 (2) 90 (3) 120 (4) 180

Find the smallest number that i1s divisible by each one of 9, 12 and 15.
(1) 60 (2) 90 (3) 120 (4) 180

HTEH-II3SL 1 Teh {df¥se U T 15 Ufd Uehe T &1 ATAT 2 | 3Hh! AN T 144 Tfd goiA
2 | 8 TS Uehel W Ufaqerd | oy fehaar g 2

(1) 20 (2) 25 (3) 24 (4) 36
A certain brand of soap-powder 1s sold at ¥ 15 per packet. It costs ¥ 144 a dozen.

What 1s the profit in percent on 8 dozen packets ?

(1) 20 (2) 25 (3) 24 (4) 36

I8 SSl-9-98! T&AT Ad i T8 37, 56, 93 ol WM 4 T IYHA Hu: 1, 2 AN 3
@ |

(1) 9 (2) 18 (3) 15 (4) 12

Find the greatest number that will divide 37, 56, 93 leaving remainder 1, 2 and 3

respectively.

(1) 9 (2) 18 (3) 15 (4) 12
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11. 3 10 3reHt fopefl R sl 4 T3 d L Fohd &, 1 3 1 &l 5 7 4 QU & & fow

12.

13.

fohd= 3TTefi=l <hl 3TTavIehdl I ?

(1) 10 (2) 8 (3) 40 (4) 12

If 10 men can do a piece of work in 4 days, how many men will be required to get the

same work done in 5 days ?

(1) 10 (2) 8 (3) 40 (4) 12

21 SHIFT 15 TR o SR IR It @ | ford SplET 35 TR o S« =R <t 2

(1) 38 (2) 49 (3) 37 (4) 41

21 goats eat as much as 15 cows. How many goats eat as much as 35 cows ?

(1) 38 (2) 49 (3) 37 (4) 41

2 | 3gfe 1 fea 9 39 27 &R IH It 2, 91 98

Teh Hehfdeh 9 &I ¥ T 36,000 AT
1 fe7 9 Tomaar ssame 2
(1) T 1,08,000 (2)

< 1,80,000

(3) < 1,00,800 (4) < 1,00,080

A mechanic earns ¥ 36,000 on 9 cars. How much will he earn in 1 day, if in a day he
receives 27 cars ?

(1) ¥ 1,08,000 (2) < 1,80,000

(3) < 1,00,800 (4) < 1,00,080

14. A x:y=3:5, A 3x + 4y : 8x + 5y ol A A BT |

(1) 39:49 (2) 29:50
(3) 29:49 (4) 39:50

If x:y=3:5, find the ratio 3x + 4y : 8x + 5y.
(1) 39:49 (2) 29:50
(3) 29:49 (4) 39:50
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15. ¢ 3, 18, m, 42 AU | &, dl m &1 T 1A hiIT |

(1) 6 (2) 54
(3) 7 (4) 252
Find the value of m, if 3, 18, m, 42 are in proportion.
(1) 6 (2) b4
(3) 7 (4) 252

16. T&H NCC & ¥ 1200 TiRreneff wm & @@ & 598 & 900 &1 Mo fgg@ a6 o g

T 2 | g §C Ud A8l g gU kel hl HEAT o sfI< 4T k1 BHT 2
(1) 300:120 (2) 4:1 (3) 3:1 (4) 120:130

In an NCC Camp, 1200 trainees are participating out of which 900 are selected for
Republic Day Camp. What i1s the ratio between the number of selected and
non-selected cadets ?

(1) 300 : 120 (2) 4:1 (3) 3:1 (4) 120:130

17. AfC Teh TASH! fhel T&dsh ol T 450 § s=dl g, dl 3 10% ! 8 Bl 8 | 10% ™

18.

gTH i o e fosha gear foamn g =t 2
(1) < 500 (2) < 600 (3) < 550 (4) < 525

If a boy sells a book for T 450, he makes a loss of 10%. To gain 10%, what should be

the selling price ?

(1) < 500 (2) < 600 (3) < 550 (4) < 525

Teh SATGHT Tesh TR sl 20% oM 9 T 7,500 H &=idl & 37 gal Tl sl 10% hl
g T T 8,100 | S=dl @ | 3ehl el M AYAST AT 1A hiforg |

(1) & =T 300 (2) BIH =T 350
(3) oMY =T 300 (4) ¥ =F 350

A man sells one speaker for ¥ 7,500 at a profit of 20% and another speaker for
T 8,100 at a loss of 10%. Find his total loss or profit.

(1) Loss =% 300 (2) Loss =% 350
(3) Profit=F 300 (4) Profit =T 350
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19.

20.

21.

22,

23.

LA hINT (8 +4—2) x (17 -12) x 10 — 89 =

(1) 3950 (2) 411 (3) 412 (4) 3949

Simplify (8 + 4 — 2) x (17 — 12) x 10 — 89 =

(1) 3950 (2) 411 (3) 412 (4) 3949

LA hISTU 0-05 + 15 x5 + 10 x 0-5 =

(1) 4-25 (2) 425 (3) 0-425 (4) 0-42

Simplify 0-05 + 1:5 x5+ 10 x 0-5 =

(1) 4-25 (2) 425 (3) 0-425 (4) 0-42

i ?mFIﬁG7+5—2><(7+89)—94+2+(33+3+9><2—7)+11:

(1) 254 (2) —225 (3) —235 (4) 245

Simplify 7+5-2x(7+89)—-94+2+33+3+9%x2-7)+11=

(1) 254 (2) —225 (3) —235 (4) 245

Ueh hell H 20 TASehl o1 3THd YR 160 kg & AT AT 5 TASh! &l 50 kg & | & b g
AAgeh! ol 3TTEd R 1A hifrg |

(1) 138 kg (2) 183 kg (3) 140 kg (4) 150 kg

The average weight of 20 boys in a class is 160 kg and that of the remaining 5 boys is
50 kg. Find the average weight of all the boys in the class.

(1) 138 kg (2) 183 kg (3) 140 kg (4) 150 kg

U Ty § 7 Torenferi grn um oftad 31 226 8 | If W ® B8 g UH U U 37k
ShHST: 340, 180, 260, 56, 275 AT 307 &, dl @rad fa=neff g wrg feu MU 316 T4

shifoTT |

(1) 160 (2) 162 (3) 163 (4) 164

The average marks obtained by 7 students 1n a group 1s 226. If the marks obtained by
six of them are 340, 180, 260, 56, 275 and 307 respectively, find the marks obtained
by the seventh student.

(1) 160 (2) 162 (3) 163 (4) 164
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Teh ATgei] H 3TEdA 510 TG UoraR sl 3T 240 317 & 311d 8 | IR | Y& 2id gqU
30 T¢7 & #&H o SAMIqeh! bl Hed T&AT feha-t gl 2

(1) 280 (2) 285 (3) 290 (4) 295

A library has an average of 510 visitors on Sundays and 240 on other days. The
average number of visitors in a month of 30 days starting with Sunday 1s

(1) 280 (2) 285 (3) 290 (4) 295

Ueh S@aTl 17d B9 H 87 i ol Th SHTdT 8 3TN 39 YhKR 3T 39d 3 ¥ & Sl
2 | 174 89 & &1 39h1 3N@d F1d shifsu |

(1) 36 (2) 37 (3) 38 (4) 39

A batsman makes a score of 87 runs in the 17th match and thus increases his average
by 3. Find his average after the 17th match.

(1) 36 (2) 37 (3) 38 (4) 39
1,3,5,7,9,11, 13 1 379d 3

(1) 7 (2) 8 (3) 75 (4) 85

Averageof 1,3,5,7,9, 11, 13 1is
(1) 7 (2) 8 (3) 75 (4) 85

Iy BT x% 100 B AT z 3T y% 200 7, a1 x AN z o &9 TG 1A hIIT |

1) z=x (2) 2z=x
(3) z=2x (4) z=3x
If x% of y 1s 100 and y% of z is 200, then find the relation between x and z.
1) z=x (2) 2z=x
(3) z=2x (4) z=3x

fopdt T&TT o 2/59 & Ueh-fdgTe h1 Th-TNATE 15 & | 39 I&AT hl 40% feha-T g 2
(1) 140 (2) 150 (3) 180 (4) 200
One-fourth of one-third of two-fifth of a number 1s 15. What will be 40% of that

number ?

(1) 140 (2) 150 (3) 180 (4) 200
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29. I 40 T 15% ThEt T & 25% U 2 37(eeh BIdT 5, dl 98 T&AT Al
(1) 14 (2) 16 (3) 18 (4) 20

If 15% of 40 1s greater than 25% of a number by 2, then the number is
(1) 14 (2) 16 (3) 18 (4) 20

30. TUsh IATHR WA o HEH hl AIraT8 THI T FTd shIfTC fS9enT &%al 700 a1 Hi. 97 AiSTs

25, & |
(1) 28 (2) 280
(3) 2800 (4) 2500

Find the length of a rectangular playground in em whose area 1s 700 sq.m and
breadth is 25 m.

(1) 28 (2) 280
(3) 2800 (4) 2500

31. T 3 T 1,200 hT KT HILTOT SIS T 3d- &l a9 o i@ foram ot == e 3 | 3fe 3uA
T 432 h1 SIS 0T Y o 37d H a1, a1 =u1 e foha oft 2

(1) 36 (2) 6
(3) 18 (4) 10

Reena took a loan of ¥ 1,200 with simple interest for as many years as the rate of

interest. If she paid ¥ 432 as interest at the end of the loan period, what was the rate

of interest ?
(1) 36 (2) 6
(3) 18 (4) 10

32. Glﬁ‘a@ﬁﬁ 7:15pmﬁ@ﬁ;ﬁgﬁﬁaﬁwaﬂWWI
(1) =3 i (2) THHII
(3) 3Tfereh vl (4) Htem o

Write the name of the angle formed when the clock time 1s 7:15 pm.
(1) Acute angle (2) Right angle
(3) Obtuse angle (4) Straight angle
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33.

34.

39.

s X

= drfetehl | =FTeh ST o U 99 o AThad qIHM ST T & | 39 dTiciehl hl
SR <hT I3 <hifsTe 3Tt fA=feiRad o 39T difvu -

=Tk YEL U USel a¥ o o9 "@Hi 13, S[ails AR fHarsx o1 S{ibad Afeshan dmae™

(2 TIMAd TAMIT deh) TehaHT o7 2

TEMT SHall | AT T3 Jore | foareR | qJar
fghad a9, °C I 3 9 21 29 24 11
(1) 21-65°C (2) 24-66°C (3) 25-52°C (4) 26-23°C

The table below shows the maximum temperatures in New York City last year. Use
the information in this table and answer the following :

What was the average maximum temperature (upto 2 decimal places) of three months
May, July and September last year in New York City ?

Month Jan. Mar. May Jul. Sept. Nov.
Maximum 3 9 21 29 24 11
temperature, in °C

(1) 21-65°C (2) 24-66°C (3) 25-52°C (4) 26-23°C

UTd-shTed k1 dT9HTE — 10°C 9T 3R ¥R deh Jg 3 feift e T3 o1 | 9=k § d9q™
EXCIRC I

(1) —-7°C (2) —23°C (3) —-13°C (4) —12°C

In the morning, the temperature was — 10°C and it decreased 3 degrees by the

evening. What was the temperature in the evening ?
(1) —-7°C (2) —23°C (3) —-13°C (4) —12°C

Teh TIATERR STf=T 185 Hi. AT 3 220 Hi. TST 3 | 39k &9 H 4 Hl. <hl THEAE dAISTS
1 Gl FSh &, Ush $Hh] IFaTs o HHT= 3T gH 3HehI =Sl o FHI | T 1-25 Uid a1
M. O Gghl ol idd (FHAA) U hl ANTd TG <hifold |

(1) < 3,900 (2) < 3,010 (3) < 4,010 (4) < 2,005

A rectangular garden is 185 m long and 220 m wide. It has two roads in its centre of

uniform width of 4 m, one parallel to its length and the other parallel to its breadth.
Find the cost of levelling the roads at ¥ 1:25 per sq.m.

(1) < 3,900 (2) < 3,010 (3) < 4,010 (4) < 2,005
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36. Ush S SR BIdT 3

(1) 1x10-14f. (2) 1x10-2Hl.
(3) 1x1024. (4) 1x103H.

One decimeter 1s equal to
(1) 1x101m (2) 1x102m
(3) 1x10%2m (4) 1x103m

37. U9 Ted ugfa #, afe I Hehael SRR 3T 8, d1 38 W 3a+1 a1 TET T81 foha

SiTat [ SR 98 31d1 7 |
(1) 9 (2) 3HAIAd
(3) gl dgl ST Thd] (4) CHFIl 99 &

In Roman numeration, if a symbol i1s repeated, its value 1s not multiplied as many
times as 1t occurs.

(1) True (2) False
(3) Cannot say (4) Both are equal

38. I % Tordll fomg W 3t€ad o =@ g 3Tdid IV BT

39.

(1) 45° (2) 180°
(3) 90° (4) 60°

The angle subtended by the diameter of a semicircle on any point on the circle is
(1) 45° (2) 180°
(3) 90° (4) 60°

Qb
G,
ol
G
Ry
i\
1
3
vy,
4
Al
a1

Ueh &S 99 <l Tcdsh HTT 44 THI 3 | 3UY Ycdeh 4 HHT T
HH-H-hH Tsh 9 g1 o1 g fehd BI o4 a1 2

(1) 888 (2) 729
(3) 164 (4) 33

A big cube has each portion of 44 cm. Tiny cubes of 4 cm portion each are cut from
that. Then how many tiny cubes will be formed that are surrounded by at least one

cube ?
(1) 888 (2) 729
(3) 164 (4) 33
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40. T IRFATERR doh 15 GHI oFal, 12 941 =il 37X 8 §Hl = 3, 3R Ul § qU W gl
2 | % H 9 g I o1 3TAA F1d hITY |

(1) 180 99 I (2) 1200 99 I

(3) 44099 I (4) 1440 99 I

A rectangular tank 15 cm long, 12 cm wide and 8 cm high was completely filled with

water. Find the volume of water in the tank.
(1) 180 cm? (2) 1200 cm?
(3) 440 cm? (4) 1440 cm3

41. HH-H Iy dgd 3T A H Fafeyd il =l gIidr & 2

) 2.l gdeld @ Rel o183
8 12 4 16 8 12 16 4
(3) é{gqﬁqi (4) l{é{ﬁ{ﬁ
8 4 1 1 12 8 4 16

(]_) é < l < ﬁ - E (2) é < l < E < §
3 12 4 16 8 12 16 4
3 2.3 .18 _ 17 4 L<2c238
3 4 1 1 12 8 4 16

42. 945-341 — 1042:792 + 875-435 + 31-025 1 HF T & ?

(1) 908-004 (2) 810-008
(3) 795659 (4) 809-009

What 1s the value of 945-341 — 1042-792 + 875-435 + 31-:025 ?
(1) 908-004 (2) 810-008
(3) 795659 (4) 809-:009
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43. U ITEH! AT o Y 160 fopl, 64 ferl/ae W otar 8 91 37 160 Tort, 80 ferei/ere
W RN 8 | AT ok J9H 320 fopt it 39d =T &

(1) 35-55 TeRHI/=ET (2) 36 TeorHi/deT
(3) 71-11 TepHI/=eT (4) 71 TeRHi/dgeT

A man on tour travels first 160 km at 64 km/hr and the next 160 km at 80 km/hr. The

average speed for the first 320 km of the tour is
(1) 3555 km/hr (2) 36 km/hr
(3) 71-11 km/hr (4) 71 km/hr

44. 3-37%1 HI AT N 21 2272 4T 875 ol fa9foid &+ 9 g6 T & I9%a U9 2BidT 2 |
N & 37! T IMTHA &

(1) 10 (2) 11 (3) 12 (4) 13

On dividing 2272 as well as 875 by a 3-digit number N, we get the same remainder.
The sum of the digits of N 1s
(1) 10 (2) 11 (3) 12 (4) 13

45. IR i %wm%ﬁﬁ,mmﬁﬁwwﬁr{m%q%qm%mmm%

™ £

qUT L HUeT AT H H T ¥ | ST B Thet 9T T 3R 2§ fha T

4
AT © 2
3 2 5}
(1) ZETUET (2) 19Ul (3) E'JUET (4) EEI'UET

It takes Julia % hour to wash, comb her hair and put on her clothes and % hour to

have her breakfast. How much time does it take Julia to be ready for school ?

(1) %hour (2) 1 hour (3) %hnur (4) ghour

46. UHH @&l 4 FHEfdigd 0 o SH-H 9@ 76d 8 2
(1) LXII (2) XCI (3) LC (4) XLIV
Which of the following numbers in Roman Numerals is incorrect ?

(1) LXII (2) XCI (3) LC (4) XLIV
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47. Tk 919 H Tohdd Heieh 81d 8 2
(1) 6 (Z) 12 (3) 8 (4) 4

How many faces are there in a cuboid ?

(1) 6 (2) 12 (3) 8 (4) 4

48. Ush HUIE Hag 1 T feemsti # s1ffvwa &9 9 gedt 8, 98 Hadd! &

(1) ¥ (2) @I

(3) @M EvUs (4) Tog

A flat surface which extends indefinitely in all directions is called a
(1) Plane (2) Line

(3) Line segment (4) Point

49. T Y HIVN o ofl= = 10° 8 | GHI U < HHT shl TUHT HIfT |
(1) 55°, 45° (2)  40°, 50°
(3) 50°, 60° (4) 100°, 90°

The difference between two complementary angles 1s 10°. Calculate the values of both

the angles.
(1) 55°,45° (2) 40°, 50°
(3) 50°, 60° (4) 100°, 90°

50. <TH, fE 3R @Ie 1 IR 48-057 fRu ? | A ST AR 19 1 wr e 5-35 TR
3T 24-52 fohUT B, A1 WIS &1 YR F1d hifST |

(1) 17-187 TR (2) 18-187 TeruT
(3) 17-180 fepum (4) 18-180 Tepum

The total weight of brinjal, lady-finger and onion i1s 48:057 kg. If brinjal and
lady-finger weigh 5-35 kg and 24-52 kg respectively, find the weight of onion.

(1) 17-187 kg (2) 18187 kg

(3) 17-180 kg (4) 18180 kg
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ol.

02.

29.

04.

09.

AT @ / SECTION B
HHT AT / GENERAL KNOWLEDGE

fope I3 BT AT aTeAT <l =Tl "9 <k fow R Srar & 2

(1) Tt (2) whEHteR

(3) TITSUEhIY (4) TeRaTrHiex
Which device 1s used to measure the speed of vehicles ?

(1) Gravometer (2) Speedometer
(3) Gyroscope (4) Kilometer

YHd o fohd TR | 31941 TS Tdfieh <A1 2

(1) hiUAaE] (2) BT

(3) EY (4) YU

From which monument did India adopt its National Emblem ?

(1) Kapilavastu (2) Hastinapur

(3) Sarnath (4) Panipat

ffaiiRad ® & fha I Siet d HaM/adT gHN FeT9RA 3T THEO & o J1dl & ?
(1) wifgtargs (2) A

(3) WGITEH (4) <pdIge!

In which of the following styles of dance is the story/theme always taken from
Mahabharata and Ramayana ?

(1) Mohiniattam (2) Odissi
(3) Bharatanatyam (4) Kuchipudi

AN TS helUsl (Vb Tad) o ATYR W HaHl ol Tal hH H FAEId hifl —
a-<F b-d3ME SIS d-3ANTe :

(1) abed (2) beda (3) dacb (4) cdab

Arrange the months based on our National Calendar (Saka Era) in correct serial
order — a-Chaitra b-Vaishakha c-Jyaishtha d-Aashada :

(1) abced (2) beda (3) dacb (4) cdab
ffIiad d | SH-81 Teid aTH 8 ?

(1) o= (2) ¢d

(3) WIS C-17 TATTHTE (4) <d%

Which one of the following is a combat aircraft ?

(1) Tejas (2) Dhruv

(3) Boeing C-17 Globemaster (4) Chetak
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56. T=fcigd o @ SH-T1/H HU/Ihl Bearad d Teed 7 ?

(1) sfqg =y (2) <R I
(3) Hd il (4) QEE I
Which of the following cups/trophies is associated with football ?
(1) Davis Cup (2) Champions Trophy
(3) Santosh Trophy (4) Deodhar Trophy
57. AT 3794 Tz hl <Al sl HH IgAd! & ?
(1) TTgm (2) =& g
(3) 7Y TR (4) TS M
How do ants recognize ants from their group ?
(1) By colour (2) By face
(3) By smell (4) By height
58. fAmfcifigd d§ & SH-A1 Iied BMEl H 9Taid 8 ?
(1) &R (2) WS (3) i (4) €IS
Which of the following is domesticated in poultry farms ?
(1) Goat (2) Sheep (3) Hen (4) Horses
59. <9 T el 7 B § o i A T @ s e §
(1) TdTE HicTehlT (2) SAefaHAT (FaXiorT)
(3) zfd (4) =
The cover the tongue and react to chemicals in food.
(1) Taste Buds (2) Sphincters
(3) Teeth (4) Skin

60. W& YTREY SHid TqY T&rfiehtor o1 it & 2
(1) W 39T hl H3R Tl &
(2) T ! Y I dwell @&l @
(3) HeHSIdl shl gig =l Uehdl &
(4) 394 H H HIE T8I

What does freezing do when preserving foods ?

(1) Keeps the food product hard
(2) Keeps the flavours of the food fresh

(3) Stops growth of micro-organisms
(4) None of the above
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61. a1, =9 (GAEEH) 3R fgwar (AiUer) & ofisil =l owfl gl 96 o STl @ *ifeh 398
(1) 49 &I B1d & |
(2) e 3N a1 91 i Bd & |
(3) o 3 ek I BA 21d & |

(4) e &9 Bd 8 |

Seeds of drumstick and maple are carried over long distances by wind because they
POSsess

(1) winged seeds.
(2) large and hairy seeds.

(3) long and ridged fruits.
(4) spiny seeds.

62. TS hl TERRTd IN1-STdd HUEYl doh1eh & |
(1) 2l (2) WA (3) Wl (4) HAT
1s a traditional rainwater harvesting technique of Rajasthan.
(1) Taanka (2) Khadin (3) Bavadi (4) Kuan
63. fA=fciiga d & -9 St | i 2
(1) Hdl (2) Teh I3
(3) = (4) de
Which of the following will dissolve in water ?
(1) Soil (2) Chalk Powder
(3) Sugar (4) 01l
64. THTARGd H § hI9-GT HshlHb T 3 2
nYgHE (STfedis) (2) Bt grar (Fereh i)
(3) 3TeTITEHY (4) HEL
Which of the following is a communicable disease ?
(1) Diabetes (2) Chicken pox
(3) Alzheimer’s (4) Cancer
65. Yddi W TeH o oI, BH
(1) 3 6l AR FehT TR (2) B 6 AR Fh1 AT
(3) e T =nfae (4) T (Th-atw1) I 918y
To climb the mountains, we have to
(1) Bend forward (2) Bend backwards
(3) Walk straight (4) Walk sideways
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66.

6.

68.

69.

70.

TS o TYd TS Fa1g 51 98 gRT 181 wrared] d sHaTs T8 @leia JeTureett sl -H

ELIE
(1) e fepem (2) e HAR
(3) SI=d{ HX (4) dN& HaA
Name an astronomical observatory built in the 18 century by Rajput King Sawai Jai
Singh of Rajasthan.
(1) Red Fort (2) Qutub Minar
(3) Jantar Mantar (4) Taj Mahal

Y 3Tdieh TS, Wi, 3¢ afffad 8id 8 |
(1) dIgHYS (2) SHeHUS
(3) T (4) HUSA

includes internal rocks, minerals, etc.

(1) Atmosphere (2) Biosphere
(3) Hemisphere (4) Geosphere

(1) Gy figd (2) SI9T9H SEH

(3) SIIHTT 389 (4) HSg h

The remains of plants and animals that were buried millions of years ago are known
as

(1) potential reserves (2) fossil fuels

(3) biomass fuel (4) animate power
g ! AT THTS 2 |

(1) Yfg=Mm 7T (2) YT

(3) hid (4) TeuTEA g
Rasgulla 1s a popular sweet of :

(1) West Bengal (2) Punjab

(3) Kerala (4) Himachal Pradesh
frfeiRgd o ° SH-G1 YA T Teh TG THSH B 2

(1) disd (2) SIE

(3) i (4) GuITs]

Which of the following 1s a tribal community of India ?

(1) Pandits (2) Jaat

(3) Bhil (4) Punjabi

AT 99T U8 o NY TR I & % [T 7T 3TE9IET bl STHET ST &
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71. ST ATYHd 9 Bd &

(1) &% (2) g
(3) A <hl Hal (4) YH-BIE *
Clouds are mostly made of
(1) snow (2) dust
(3) water droplets (4) smog
72. TA=fcfiga d @ SH-H Sfd & foiw amEca digt i 2997 TEd T Y fhA1 11 2
(1) < faegd 3Tehiza (2) <AheH
(3) & TSR S (4) THM BT S
For which of the following works has Vasdev Mohi been awarded the 29" Saraswati
Samman ?
(1) Lost Children Archive (2) Chequebook
(3) The Stranger Diaries (4) A Song for a New Day

73. YU, HEEHT (SIS THTScl) oh HLA& 99 el JUH WA i o ?

(1) e fag (2) .. FE B
(3) sfituct fasrm weHt ufsa (4) igdt gieu e
Who was the first Indian to be the President of U.N. General Assembly ?
(1) Natwar Singh (2) V.K. Krishna Menon
(3) Smt. Vijaya Lakshmi Pandit (4) Smt. Indira Gandhi
74. T4 YRR & fAfcifigd & @ -8 9 § T Uil srdfea gidt 8 2
(1) TRiees (2) G (FTA)
(3) ®ic (3I3) (4) B
In which of the following parts of the human body are sweat glands absent ?
(1) Scalp (2) Armpits
(3) Lips (4) Palms
75. & o B F=d I §H T Hhad @ ?
(1) ®id (2) hice
(3) NI (4)
What do we call the young one of a Kangaroo ?
(1) Foal (2) Colt
(3) dJoey (4) Cub
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16.

1.

8.

9.

80.

31.

32.

33.

HIT T

fe=dt
(et T8t Tt @ TaTE % ATt & forg)

9 & i feu v foehedt ®§ | 3fa faeeu 1 ==q Shifsu

(= o S
SIgl ST hldA Bl

(1) Sre (2) T (3)  THAN (4) 3T
f=feTiad 3reg o o @@t faudianeds seg (faehed) &1 =94 $ioT

I

(1) W (2) ITHEAM (3)  fomm (4) 3@
fAafeiad sree o foiu w8l gfy-fa=ee (faeed) =1 =4 SIfNT -

(1) TR +3g (2) it +3g 3) T + 3g (4) TR + 35
fefeiRaga s1eg § Wk 3Ua o @@l fdehed 1 =94 I :

T:I:?'CIQ’

(1) ™ 2) f=

(3) ™: (4) T

[

Jedeh Y9 o 1 feu U fashedi o @ 3fud fashew giHT -
ffafga 1 9 9-91 wee S1ed &1 W= e § 2

(1) 37T (2) TH (3)  Sde (4) IS
2y 316g 1 faei™ 3Ieg B

(1) e (2)  fomre

(3) JAYHH (4) hte

frfeTiga areRI/sTeg THgE %qu'q U foeped] § § 3fud STee 1 == HIfT -

‘S gl 99 gfed d S@dT &l

(1) oo (2) T (3)  GHeIf (4)  YUYHR

1 TR §HH o e ffaiagd vregi/sree avgi i s¥aferd hifse | foskedl § 9 48l
fehed bl = <hITaU

M/ A/ qudlarg / H
(A) (B) (C) (D)

(1) DBAC (2) DABC (3) ABCD (4) BCDA
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34.

89.

36.

87.

feu U foehedl H & T&El Id-T I W6 o1 T iU

(1) mfarg (2) efEte (3)  faTg (4)
fh T WA o foiw Iueh faehed T

59 AR R W= 8 98 FHEATT & |

(1) 3T (2) 379Ul (3)  IYH (4)

g9 o A= feu v faemeat d 9 3fd fasheq &1 ==q Shifsu
Ffdiaa & 9 -9 362 Tfedi 1 T=aT=] 36e & 2

(1) STRIISHh (2) I (3)  ITWH (4)
ffafga § @ SH-91 3s¢ 9e2” T GIHGT= 3o¢ 7gT 2 ?
(1) Yad (2) TER
(3) 39 (4) FILIY

fArafeRad Jge8q &1 THYdS Gga Y8 0 I941 & o0 @gl fadeq AT (997 a&ar

88 @92):

RGN %mwﬁ@r IR T EdT 3 | FTS 4 Sftgadr s & % | Ife 21 T B e

SITd

dl T TAS 81 SC | 9H i 1=|T94ehc1 % 91 ° gareqr et 9 sher o

— 99 99 BT B

dl 3cqTeeh oF & &= T TR x:ungrr‘a it o 3cUTgeh UM 1 dcdd I8 & Tob 99 °§ S A ohl
gTfed gl, =18 I &I, cus wm‘a' |3’€lﬁ%m3h‘@ﬁ3u-1q3w* | o9 o gfd fser 3t g

<hl WTaHT AR F&s Ygid gl 1M | J%qd: 891 faeh@ 1, g 3Afd &

heTdl bl HorHa 3R Wfd <kl Higl e 9 & ed Bidl & | 9Rem, 989 3R HH &

) (- Y

e
88.

39.

90.

91.

92.

-G <1 |19 3 | ST 739 IRIH LdT 8, 98 |l i 8id1 2 |

TIEY IR ok TAU o1 371993k & 2

(1) hEd Sl (2)  TRaT o
(3) Sftaddl (4) 9T
TS, 9189 3T hH i IATcA-cTHT bl T hd g 2

(1) wﬁaﬁﬁa%a‘nﬁaﬁm%mw%l

(2) wTEH HHAN B & |

(3) ST AT Y Hdl & a8 drgat ot grar 2 |
(4) UNHH, HEE Th-g o I Tl @ |

A B — al

miefisht 3 9 <hl grefehar forad AT B 2

(1) 9Rem & 9 (2) G <hl HTeHT 9

(3) o9 = Yfd a1 3 (4) 3IUTCH A9 9

grefehdr vse T faoTiyg wree 3

(1) FHAdl (2)  ITHTehd] (3)  faelerar (4) YA
S {4 H ATE ha ST ?

(1) o g9 T gl (2)  FES H TfASar T&i g

(3) & U9 H TEHM ! WIHAT gRfl (4) 9 99 W $S Al hl JIied grfl

i
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93.

94.

9o.

96.

97.

98.

99.

100.

TR h ToTu Hat foehed glet
qieqT ¢ are

(1) Y&
(3) TLr&Tel

qisld

(1) g (2) HASY

ffeiiad sreg d 9k I o &l foshed &
IEEISE]

(1) < (2) HAMAA

fefetiRad e o1 Sfifer &9 FHT
SL)

(1) Sl 2) TSrerh

frferiaa d & qfgm weg 2

(1) =al

(3) <hiddl

ASehl Weq I TgI=H FY 3

(1) ASfeha (2) TS
Tl 1 Tal 31y foTfau -

JTST @™

(1) S dle

(3) Wi UL TR Hil

JeTer i H&l Y feiiau .

3TFA T AT TS

(1) H@ &= ST
(3) I fa=mE < &war 7 @

(2)  Toemeff
(4)  Toremeff
(3) BX (4)  9UHH
= <hIN
(3) & (4) AT

(3)

(2)
(4)

(3)

(2)
(4)

(2)
(4)

S3TE (4)  TrerEA

SSIED (4) ShiT

G B

T Sl
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SECTION C
LANGUAGE

(Only for those attempting English Language)

Read the following passage and answer the questions (Q. 76 — 78) by choosing the
most appropriate option :

Zeus and Prometheus

From the very first, humans had trouble with the Greek Gods. Most Gods thought of
humans as toys. But Gods made friends with the humans. One of those Gods was
Prometheus. The first people created by the Gods lived happily together. They thought the
Gods were wonderful. But their children were not as grateful or as content. The children
argued among themselves, and sometimes even argued with the (Gods. Zeus was very
disappointed at mankind. He decided to punish mankind by depriving them of a very
important tool — fire. Prometheus felt sorry for his human friends. Fire was important for
many things such as heat and cooking. Prometheus stole a lightning bolt from Zeus and

gave 1t to mankind. That’s when man discovered fire.

Zeus was furious as Prometheus had defied Zeus. He ordered Prometheus be chained to a
rock as punishment for stealing his lightning bolt, and for going behind his back to help the
humans. To make Prometheus even more miserable, Zeus sent storms to beat angry waves
against Prometheus, helplessly chained to his rock. Zeus made the sun shine really

brightly now and then to burn his skin. It was Hercules who finally released the helpless
God from his chains.

76. Which of the following statements 1s not true about Zeus and Prometheus ?
(1) Most Greek Gods saw humans as a means of their entertainment.
(2) Prometheus was chained to a rock as he was a God.
(3) Zeus was an unforgiving God who did not like to be disobeyed.

(4) Hercules emerged as the saviour of Prometheus.
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77. Why was Zeus angry and disappointed at humans ?
(1) They kept asking him for fire.
(2) The humans misused his lightning bolt.
(3) The humans were quarrelsome and didn’t respect the Gods.

(4) The humans were not intelligent enough to discover fire.

78. What is the meaning of the underlined word : ‘Prometheus had defied Zeus’ ?

(1) Prometheus had worshipped Zeus all his life.
(2) Prometheus had defamed Zeus.
(3) Prometheus detested Zeus for his attitude.

(4) Prometheus had disregarded the authority of Zeus.

Fill in the blanks with the most appropriate option.

79. The news 1s all the internet.

(1) on (2) through (3) over (4) near
80. We studied about Roman Empire in school.

(1) a (2) an (3) the (4) no article
81. There was no one else in the room Collin.

(1) accept (2) except (3) axcept (4) acept

Rearrange the following words/phrases to make meaningful sentences. Choose the
correct sequence.

82. the sun/you/of/ must/stay out
A (B) (€C) (D) (K)

(1) ECADB (2) ABCDE (3) BDECA (4) DECAB

83. 1/1mmediately/salary/my/want
(A) (B) (C) (D) (E)

(1) BAEDC (2) AEDCB (3) DCAEB (4) EADCB
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34.

89.

36.

87.

88.

39.

90.

91.

Do as directed :
There are some diseases that are inherited. (Identify the kind of Noun)

(1) ‘diseases’is a proper noun
(2) ‘diseases’1s an abstract noun
(3) ‘diseases’is a collective noun

(4) ‘diseases’ 1S a common noun

After school you and must discuss a few things. (Choose the correct pronoun)
(1) him (2) me (3) 1 (4) we

It 1s quite warm, ? (Use a Question Tag)

(1) 1sit (2) wasn'tit (3) 1sn’tit (4) wasit

Leave your bags at the gate. (Identify the type of sentence)

(1) Imperative (2) Declarative
(3) Interrogative (4) Exclamatory
Near the equator, the sun greater quantities of water.
(Choose the correct form of the verb)
(1) 1s evaporating (2) evaporates
(3) has evaporated (4) evaporate
Choose the correct spelling :

(1) appartment (2) aparttment (3) apartment (4) apartmant
Today 1s the day of my life. (Choose the correct adjective)

(1) more important (2) less important

(3) 1mportant (4) most important

Poets are known to fly in their thoughts.
(Choose the word nearest in meaning to the underlined word)

(1) sore (2) sour (3) soar (4) sure

L
gcollegedumag
India’s largest Student Review Platform

i




92. Choose the most appropriate option :
Which of the following options is the meaning of the word ‘exhausted’ ?

(1) Very hot (2) Very polluted
(3) Very fresh (4) Very tired

93. A confectioner is a person who

(1) sells tools (2) sells confetti
(3) sells sweets (4) sells clothes
94. The captain along with the players.
(1) was present (2) was presenting
(3) have been presenting (4) has been presenting

95. Choose the word that means the opposite of MORTAL.

(1) Unmortal (2) Immortal (3) Inmortal (4) Dismortal
96. A of thieves was caught by the Police.
(1) swarm (2) pack (3) team (4) batch
97. It has become his habit to do his homework and then copy it from others.
(1) always (2) often (3) frequently (4) never
98. There were several at the conference.
(1) women (2) woman (3) wemens (4) womans

99. “To beat around the bush’ means
(1) to turn violent against a stranger.
(2) to avoid saying something because it is uncomfortable.
(3) to come to the main point of the conversation.

(4) to start a fire 1n the forest.

100. My father is a bookworm, he books to films and sports.

(1) 1s prefer (2) prefer (3) prefers (4) are prefer
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T 9 / SECTION D
AT (Sefeeid) / INTELLIGENCE

101. €1 T3 S@AT H STTAT FAT T ?
ACEH K M s
(1) N (2) Y 3) P (4) M

What comes next in the given series ?

(1) N (2) Y 3) P (4) M

102. g 7 €9 g& hl AR =T IR fohd1 | 98 $© g o =ar 3R T 319+t grfi 3T g2
aYT T & =l | 37 39kl g fohd feem 4 7 2

(1) S 2 Y (3) & (4) dfyem

Rahul started walking straight towards East. He walks a certain distance and then
turns towards his right and walks again. In which direction is he heading now ?

(1) North (2) East (3) South (4) West
103. feu U faemeal & & fawg =1 === Shifvw |

(1) STEATQST : Tl (2) wEA ; foa

(3) HIEIH : Sl (4) 30H : T

From the given options, choose the odd one out.

(1) Bangladesh : Taka (2) Brazil : Real

(3) Cyprus : Dollar (4) Iran : Rial
104. 911 Ufeh 9 &<t B |

T a9 92T 3 |

fieh fFa® @ 921 2 |

If¢ 9¥H T YT T 7, df AE0 HY B

(1) G (2) IEH (3) ffeea (4) T G g TRl

Tanya 1s older than Eric.
Cliff is older than Tanya.
Eric 1s older than Cliff.

If the first two statements are true, the third statement 1s

(1) True (2) False (3) Uncertain (4) None of these
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105. S99 &g & TA™ 9T =7 3T 2
10, 100, 200, 310, ?

(1) 420 (2) 410 (3) 430 (4) 400
What will come at the place of the question mark ?
10, 100, 200, 310, ?

(1) 420 (2) 410 (3) 430 (4) 400

106. A, Bhidgda | C,BHIATE | D.CH Uaa | E,DH AT 3 | 9 A T D T T G

2D

(1) gl (2) grdl

(3) Al (4) 9=

A 1s B’s sister. C 1s B’s mother. D 1s C’s father. E 1s D’s mother. Then how 1s A related
toD ?

(1) Grandfather (2) Grandmother

(3) Daughter (4) Grand-daughter

107. T fafsrse e 9T & COMPUTER %1 RFUVQNPC % &9 # for@l Jrar g | 38 e
YTST § MEDICINE &1 fohd YehR forat Siram 2

(1) MFEDJJOE (2) EOJDEJFM

(3) MFEJDJOE (4) EOJDJEFM

In a certain code language, COMPUTER is written as RFUVQNPC. How will
MEDICINE be written in that code language ?

(1) MFEDJJOE (2) EOJDEJFM
(3) MFEJDJOE (4) EOJDJEFM
108. Ifg gferur-qd I &1 AW, IH-Yd 9fvad & Y 3R 36 YR 3h0 T/ @&, a1 9fvad =01 |l
SITQT 2
(1) IR-gd (2) IW-Afe=m
(3) Tiefugd (4) cfeturufyem
If South-East becomes North, North-East becomes West and so on, what will West
become ?
(1) North-East (2) North-West
(3) South-East (4) South-West
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109. 45 TI=ie=i hi Ter el H, TR 1 hH ST T 1641 & | 3T3Meh, MR U 6 HH A9 7 |
=l O 313Nk 1 HH hiF-HT 3 2

(1) 23dT (2) 3241 (3) 244l (4) 3047

In a class of 45 students, Amir’s rank from the top is 16th. Ashok is 6 ranks below
Amir. What is Ashok’s rank from the bottom ?

(1) 23rd (2) 32nd (3) 24th (4) 30th

110. 31&R % HH-H Teh Y= I ¢l Tg &R TGAT o6 @lcil TAH H HAFMHR WA d @

g gt 2
_ab b _aba __ abab.
(1) abbaa (2) bbaab (3) abaab (4) aaaba

Which one set of letters when sequentially placed at the gaps in the given letter series
shall complete 1t ?

_ab b _aba _ abab.
(1) abbaa (2) bbaab (3) abaab (4) aaaba

111. 38 ST I 3R SRAT : 2, 1, (1/2), (1/4), ...
AT A et T&AT HiH-H B 2
(1) 1/3 (2) 1/8 (3) 2/8 (4) 1/16

Look at this series : 2, 1, (1/2), (1/4), ...
What number should come next ?

(1) 1/3 (2) 1/8 (3) 2/8 (4) 1/16
112. 98 9&1 faerey giHw e a8t 994 & |

SCD, TEF, UGH, . WKL

(1) CMN (2) UJI (3) VIJ (4) IJT

Choose the correct alternative that has the same relation.

SCD, TEF, UGH, . WKL

(1) CMN (2) UJI (3) VIJ (4) IJT

113. I ‘WAY’ %l 679 o €9 H picd [haT AT 8, ‘MAY’ I 579 o &9 H phicd T ST 7,
al ‘YAW’ bl hfed fepam Sram

(1) 976 (2) 769 (3) 679 (4) 579
If ‘WAY’ 1s coded as 679, ‘MAY’ 1s coded as 579, then “YAW’ will be coded as
(1) 976 (2) 769 (3) 679 (4) 579
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114. IC + &1 31 g “Ter”, w1 7Y 8 T, ) BT AL B T, A 10 x5 + 3 — 2 B A
T 3 2

(1) 24 (2) 52 (3) 9 (4) 10

If ‘4’ means “Minus”, " means “Multiply”, X’ means “Add”, then what is the value of
10x5+3-27

(1) 24 (2) 52 (3) 9 (4) 10

115. GUIAT : Hiad (faeTg) : . 991eT &

(1) T HET (2) HOHA HET
(3) &AMy (4) HHIAATS
mend : sewing : : edit :
(1) darn (2) repair
(3) manuscript (4) makeshift
116. f&<F T i gfd Hife |
AMMH ‘EIEIET ¢ Gi')g‘:iQ’I U
(1) = (IFae) (2) Toe (3) THdA (4) TSHAR
Fill in the blank.

rein : horse : : control panel :

(1) pilot (2) it (3) plane (4) rider

117. 98 36 JHU I TYE & Yeal H Fod %A WA 7 |

(1) UH.UH. 4= (2) HESH

(3) ogIeHUY (4) Teaex

Choose the word which is least like the words in the group.
(1) MS Paint (2) Facebook

(3) WhatsApp (4) Twitter
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118. 98 &g YT 1 {ETfehd 316G o1 TG 9T 7 |

e

(1) v (2) TReren (3) TH (4) TR
Choose the word that 1s a necessary part of the underlined word.

Guitar

(1) Band (2) Teacher (3) Songs (4) Strings

IIQ.Q;Q;; |

3UYh faehed o1 =34 ek Tgdia I =l g HIfT |

1) @ @ | | 3) O (4) A
olelEE

Complete the second pair by selecting the appropriate alternative.

@) « (3] « O] oA

120. U 31eH] 6 fope] afequr shl ST =retdl B, ¢ gt 4 fohrfl =rordn 8, TRt qam oW gedr 3
3T 5 fopHt =rerar 2 | 31« 3Gkt Yg fopd foum &t IR B 2

(1) afequ (2) IW (3) 9 (4) dfy=m

A man walks 6 km south, turns left and walks 4 km, again turns left and walks 5 km.

Which direction is he facing now ?

(1) South (2) North (3) East (4) West
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121. 999 =g o TAM 9T hIH-ET TR ST ?

OXOX0,
() (9) (&)
() () )

(1) N 2) O
3) P (4) M

Which letter replaces the question mark ?

OXOR0,
) 48) {4)
() () )

(1) N 2) O

3) P (4) M

122, ISRl 4 Teh 9ad bl hal, ‘= 45 fime o Fafua raua w aoidt 8 | :1faw = 5 fime
ggcl st off | STl 9t 7:45 am WSS |7 YR A e Sl Ig FIAT hE FHA W
off 2
(1) 6:55 am (2) 7:00 am
(3) 7:05 am (4) 7:40 am

The priest told the devotee, “The bell rings at regular intervals of 45 minutes. The
last bell rang 5 minutes ago. The next bell is due to be rung at 7:45 am.” At what time

did the priest give this information to the devotee ?
(1) 6:55 am (2) 7:00 am

(3) 7:05 am (4) 7:40 am
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123. = fou v fom 4 fohaw fyer 2 2

(1) 4 (2) 12 (3) 16 (4) 10

How many triangles are there in the figure given below ?

(1) 4 (2) 12 (3) 16 (4) 10

124. T %2 H, ‘BOMBAY’ &l ‘CNNABX’ % &4 T hicd fohaT SITaT 8, d ‘DELHI %l %e &1

2T 2
(1) EDMJG (2) GMDEJ
(3) DEGMJ (4) EDMGJ

In a code, BOMBAY’ is coded as ‘CNNABX’, then what will be the code of ‘ DELHI’ ?
(1) EDMJG (2) GMDEJ
(3) DEGMJ (4) EDMGJ

125. Tk T i gfd it |
AT ST : Teh HL T : . AEHT HAT

(1) 919 M (2) €8T o
(3) Tammrg < (4) 3IT9T ITATh! E HI <1
Fill in the blank.

segregate : unify : : repair :

(1) approach (2) push

(3) damage (4) outwit
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TF HT ok [0 ST

SPACE FOR ROUGH WORK
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TF HT ok [0 SHTE

SPACE FOR ROUGH WORK
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